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Each numbered problem is 5 points \ = Date 2 j 2

@ An angle of 1—355 in standard position terminates in which quadrant? ‘_A‘@ %ﬁ

-

Trigo nometrv Quiz 1

Most of these questions are recall, but show work where possible.
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For problems 2 and 3 convert each degree measure into radian measure.
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For problem 4 convert the given radian angle measure 10 degree measure. Give the exact value; do

not give a decimal approximation., <
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@n a particular circle, the radius has length of 14 meters. A central angle of@n‘s would cut

£f an arc length that is of what length? 1 LA \
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1d the 45-45-90 triangles.

6 -7 In the space below, draw and correctly label the 30-60-90/an
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:@ elc_l'Lacent leg, owite leg and hypotenuse define the following trigonémetric functions:
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n terms of X, y, and r, define the following trigonometric functions: x
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- cos 6= __7S cot (49) = 1 sin(0) = l
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10. Suppose @ is an angle in standard position with a measure o Find (give exact vgdugs) of
yis
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12. Consider the exciting circle shown at the right. Find the
measure of Zm. Outline as much of your chain of
reasoning as you are able. Half the credit for this problem
is for the numerical answer, and half is for some attempt at

producing a chain of reaso?i

Bonus:

@) An angle of 20,000,000,000° will terminate in which quadrant? @

(i)  Suppose @ is an angle in standard position with a measure o

measure of it’s reference angle 7
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